In class self study.

Heaps:

Insert the following integers into a priority queue implemented as a heap, using top down insertion. Count how many comparisons and swaps you needed to execute. Draw both the complete binary tree and the corresponding array. Use “(” as higher priority.

67  84  63  35  84  81  21  94  39  22  94  4  49  65  96  17  19   23

Do the same using bottom-up insertion.

Remove the item with top priority and “heapify” the heap. 

 Multiways trees:  2 – 3 and 2 – 3 – 4 trees.

A 2-3 tree.






Insert: 45, 105, 107, 6, 8, 9

Remove: 100, 25, 50

Note: design an efficient graphic way to display the tree after each operation.

A 2 – 3 tree is also a 2 – 3 – 4 tree. Start with the same tree, except regard it as a 2 – 3 – 4 tree and execute the same insertions and deletions.
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